@ (m) () G 1) ( /m) G ) G 2() G () 3 J2A) (m) v( /m) V(. /m) 3 3() I(m) I &) 3 ()
=L*t =L*t =G 1+GT2 =L*2 /m =h*(v+v') =L-h =2 /m =S 1 JT4)
1.00 3 3.0
2.5 19.00 18 342.0 342.0
50 31.70 24 760.8 760.8 11.70 20 257.4
JIGA
1.6 204 22 51.70 1,105.8 1,127.8 40 103.4 11.70 257.4 40.00 80.0 480.8
1.00 3 3.0
1 7.00 18 126.0 126.0
50 20.00 24 480.0 480.0 10.00 20 220.0
JIGA
2.0 51 22 28.00 609.0 631.0 40 56.0 10.00 220.0 18.00 36.0 352.0




GM(hr)

G ()

1
GD(M/ )=(60*GM
*GS/GT)*(1-E)*L

> L(m)
=n*L

2( )
=3 L/GD

IM(hr)

30)

1
DM/ )=(60*IM
*15/ T)*(1-E)*h

=H/JD

38 4()

()
=3 (N1I” N4)

(m3/ )

"(m3)
—H*y*

Q(ma)
=Q*(1+p)

JIGA

6.3

34.7

10,546.8

3

04

6.3

18.4

2,386.8

130

309

3,876.0

2.5

6,466.8

50

0.18

0.06

8,592.48

9,108.03

10,342.8

8,592.48

9,108.03

JIGA

6.3

16.8

1,428.0

85

6.3

10.7

510.0

48

90

357.0

1,020.0

0.18

0.06

1,836.00

1,946.16

1,377.0

1,836.00

1,946.16




53PS 45kVA 100kVA 150kVA 200kVA
qw a 1(m3) q(m3/ ) y 2(m3) (m3/ ) 3(m3) > (m3) (m3/ ) 1(m3) 2(m3) (m3) 1) 2( ) 3( ) 40 ) 5( ) ()
(m3/ ) =H*v*(qc+qw)*(1+a ) =GT2"*n*q*y =N2"*y SV1+V2+4V3 |5 /N2 =18.9*N2*GS |=41.07*N2'*JS |= 1+ 2 =52*N2'*JS |=46*N2 =100*N2 =146*N2'  |=212*N2'  |=5 (P1" P5)
0.1 0.2 1,395.4
0.07 0.1 13,127.4 0.1 0.2 3,104.1
JIGA
13,127.4 4,499.5 2 260.0 | 17,886.9 137.6 11,491 10,678 22,169 13,520 30,400 18,980 27,560 90,460
0.1 0.2 128.5
0.07 0.1 2,805.0 0.1 0.2 489.6
JIGA
2,805.0 618.1 2 96.0 3,5619.1 73.3 1,607 1,971 3,578 2,496 3,910 10,176 16,582




